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Alexandrium spp.: 30
D. fortii: 200

D. acuminata: 20

Alexandrium spp.: 50
D. fortii: 110

D. acuminata: 10

D. fortii: 20

D. acuminata:

Alexandrium spp.: 320
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Alexandrium spp.: 80

D. fortii: 80

D. acuminata: 20

Alexandrium spp.: 370
D. fortii: 50

D. acuminata: Q

S EDREFER H&EHBH: 5H228
BEIZUI HIEH (cells/L)
HEME | KE . Dinophysis S
Alexandrium spp. D. fortii |D. acuminata |% DD Dinophysis
OHBER | 10m 320 20 0 0
Q@%i# 10m 370 50 0 30 D. rudgei
©)F =17 10m 50 110 10 10 D. norvegica
@ESH 10m 80 80 20 30 D. rudgei
= D. norvegica
®MmE/@# | 10m 30 200 20 130 D- rudgei
! D. norvegica

X Alexandrium spp. IXFEFOMEBRE, D forti £D. acuminata IETHRIEEEZEDRERRE TSV TY,




Alexandrium spp. (cells/L)

AER
OEERN |Q%F |(OFEEN |OESH (OR/HE
4A5H8 - - 120 150 60
48128 280 170 90 30 140
4820H 330 340 110 280 410
4A26H 70 250 480 240 750
5810H 4,190 4,860 - - -
58118 - - 1,580 940 2,590
5815H 1,470 570 - - -
58178 - - 1,140 360 980
5H22H 320 370 50 80 30
5H831H
6878
687H
68148
6H21H
6H828H
EEE D. fortii (cells/L)
OEEN |Q£F |OEEN |OESH |(OR/HE
485H - - 0 20 0
48128 0 20 20 50 30
48208 0 10 60 10 60
4H26R 10 30 70 60 100
58108 720 90 - - -
58118 - - 50 260 450
58158 20 80 - - -
58178 - - 60 80 310
5H22H 20 50 110 80 200
5H831H
6878
6878
68148
68218
6H28H
smEm D. acuminata (cells/L)
OEEN |QfF |OEEN |OESH |(OR/HE
485H - = 0 20 0
4812H 0 10 10 40 20
48208 0 0 0 0 0
48268 0 0 0 0 10
58108 40 100 - - -
58118 - - 0 70 40
5815H 0 10 - - -
58178 - - 10 20 50
5H22H 0 0 10 20 20
58318
6878
6878
68148
68218
6H828H
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Alexandrium spp.
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